



Создайте десяток, чтобы решить примеры.

$$\begin{array}{r} \text{об) } 12 - 8 = 12 - \underline{2} - \underline{6} \\ 10 \quad - \underline{6} = \underline{4} \end{array}$$

$$\begin{array}{r} 1) \quad 17 - 8 = 17 - \underline{\quad} - \underline{\quad} \\ 10 \quad - \underline{\quad} = \underline{\quad} \end{array}$$

$$\begin{array}{r} 2) \quad 14 - 6 = 14 - \underline{\quad} - \underline{\quad} \\ 10 \quad - \underline{\quad} = \underline{\quad} \end{array}$$

$$\begin{array}{r} 3) \quad 11 - 8 = 11 - \underline{\quad} - \underline{\quad} \\ 10 \quad - \underline{\quad} = \underline{\quad} \end{array}$$

$$\begin{array}{r} 4) \quad 15 - 8 = 15 - \underline{\quad} - \underline{\quad} \\ 10 \quad - \underline{\quad} = \underline{\quad} \end{array}$$

$$\begin{array}{r} 5) \quad 15 - 6 = 15 - \underline{\quad} - \underline{\quad} \\ 10 \quad - \underline{\quad} = \underline{\quad} \end{array}$$

$$\begin{array}{r} 6) \quad 18 - 9 = 18 - \underline{\quad} - \underline{\quad} \\ 10 \quad - \underline{\quad} = \underline{\quad} \end{array}$$

$$\begin{array}{r} 7) \quad 11 - 4 = 11 - \underline{\quad} - \underline{\quad} \\ 10 \quad - \underline{\quad} = \underline{\quad} \end{array}$$

ОТВЕТЫ

об.	<u>2</u>	<u>6</u>	<u>4</u>
1.	_____	_____	_____
2.	_____	_____	_____
3.	_____	_____	_____
4.	_____	_____	_____
5.	_____	_____	_____
6.	_____	_____	_____
7.	_____	_____	_____



Создайте десяток, чтобы решить примеры.

$$\text{об) } 12 - 8 = 12 - \underline{2} - \underline{6}$$

$$10 - \underline{6} = \underline{4}$$

$$1) 17 - 8 = 17 - \underline{7} - \underline{1}$$

$$10 - \underline{1} = \underline{9}$$

$$2) 14 - 6 = 14 - \underline{4} - \underline{2}$$

$$10 - \underline{2} = \underline{8}$$

$$3) 11 - 8 = 11 - \underline{1} - \underline{7}$$

$$10 - \underline{7} = \underline{3}$$

$$4) 15 - 8 = 15 - \underline{5} - \underline{3}$$

$$10 - \underline{3} = \underline{7}$$

$$5) 15 - 6 = 15 - \underline{5} - \underline{1}$$

$$10 - \underline{1} = \underline{9}$$

$$6) 18 - 9 = 18 - \underline{8} - \underline{1}$$

$$10 - \underline{1} = \underline{9}$$

$$7) 11 - 4 = 11 - \underline{1} - \underline{3}$$

$$10 - \underline{3} = \underline{7}$$

ОТВЕТЫ

об.	<u>2</u>	<u>6</u>	<u>4</u>
1.	<u>7</u>	<u>1</u>	<u>9</u>
2.	<u>4</u>	<u>2</u>	<u>8</u>
3.	<u>1</u>	<u>7</u>	<u>3</u>
4.	<u>5</u>	<u>3</u>	<u>7</u>
5.	<u>5</u>	<u>1</u>	<u>9</u>
6.	<u>8</u>	<u>1</u>	<u>9</u>
7.	<u>1</u>	<u>3</u>	<u>7</u>